

:(3.5)Ø

$$f(x) = 1 + \sqrt{x-1} \quad \text{for } x \in [1; +\infty[\quad f \quad (1)$$

(2cm)
$$\begin{cases} U_0 = 3 \\ U_{n+1} = f(U_n) \end{cases} \quad (U_n) \quad (2)$$

$$U_n \quad (U_n) \quad U_n \quad ($$

$$2 < U_n \leq 3: \quad (n \in \mathbb{N}) \quad U_n \quad ($$

$$U_{n+1} < U_n: \quad (n \in \mathbb{N}) \quad U_n \quad ($$

$$V_n = \ln(U_n - 1) \quad (V_n) \quad (3)$$

$$\frac{1}{2} \quad (V_n) \quad ($$

$$\lim_{n \rightarrow +\infty} U_n = \lim_{n \rightarrow +\infty} V_n$$

$$\lim_{n \rightarrow +\infty} P_n = P_n = (U_0 - 1)(U_1 - 1) \dots (U_n - 1) \quad ($$

:(4)

$$0, 1, 2 : \quad () \quad 8$$

$$4 \quad () \quad 2, 2, 2, 0$$

" :A :

" :B

" :C

" :D

$$P(D) = \frac{1}{6} : \quad P(C), P(B), P(A) \quad (1)$$

$$X \quad (2)$$

$$P(X = 16) = \frac{3}{28} : \quad ($$

$$E(x) \quad X \quad ($$

:(5)

(E)..... $z^3 - (4-i)z^2 + 4(2-i)z + 8i = 0$: C

(E) (-i) (1)

$(z+i)(z^2+az+b)=0$: U (E) (

U U (E) C U (

$(-i), (1+i)$, A, C, B $(O; \vec{u}, \vec{v})$ (2

(2-2i)

ABC U $L = \frac{z_B - z_A}{z_c - z_A}$ (

$\sqrt{2}(z_A)^{1440} + \left(\frac{z_B}{\sqrt{2}}\right)^{2019} - \left(\frac{z_c}{2\sqrt{2}}\right)^{2001} = i\sqrt{2}$: (

$(2+2i)^n$: n (

$\{(A;1), (B;-1), (C;-1)\}$: D (

U °ABDC (

$\left|z - \frac{3}{2} + \frac{1}{2}i\right| = \frac{\sqrt{10}}{2}$: O O M(z) (Gamma) (

(Gamma) A !

° (Gamma) !

:(7.5)

$g(x) = x^2 + 2x + \ln(x+1)$: O O]-1; +∞[g //

U U g (1

g(x) g(0) (2

$f(x) = x - 1 - \frac{\ln(x+1)}{x+1}$: O O]-1; +∞[f //

$(O; \vec{i}, \vec{j})$ (C_f)

$\lim_{x \rightarrow -1} f(x)$ ($\lim_{x \rightarrow +\infty} f(x)$ ((1

$f'(x) = \frac{g(x)}{(x+1)^2}$:]-1; +∞[x U U ((2

U U f (

$\lim_{x \rightarrow +\infty} [f(x) - (x-1)]$ ((3

(Delta): y = x-1 (C_f) O (

(C_f) $1,3 < \beta < 1, -0,6 < \alpha < -0,5$: β, α U $f(x) = 0$ (

(C_h) $h(x) = x - 1 - \frac{\ln|x+1|}{x+1}$: O O $\mathbb{R} - \{-1\}$ h //III

$\mathbb{R} - \{-1\}$ x U U $h(-2-x) + h(x)$ (1

(C_h) ((2

x U $h(x) = m$ U m (